PARLINGTON CRICKET CLUB 1st XI 2000

<u>LEAGUE</u>			PLAYED NOT STARTED WON LOST DRAWN TIED	
	9th	IN LEAGUE WITH	243 POINTS	
	TOSS	WON LOST	8 14	
<u>CUPS</u>			PLAYED WON LOST ABANDONED	6 2 3 1
	<u>TOSS</u>	WON LOST	3 3	

LEAGUE

<u>LL/100L</u>				Highest	Not	Comp.		Balls	Balls/	Num	ber of
	Matches	<u>Innings</u>	Runs	Score	Out	Innings	Average	Faced	Run	<u>4's</u>	<u>6's</u>
J.D. GLENDENEN	22	22	654	115*	2	20	32.70	1063	1.625	62	12
M. STAINSBY	22	22	580	61	0	22	26.36	1326	2.286	59	1
J.G. MOODY	22	20	419	91	3	17	24.65	791	1.888	36	0
D.J. HICKEY	14	14	272	78	1	13	20.92	365	1.342	35	4
M.E. JOBLING	20	19	343	62	1	18	19.06	710	2.070	28	0
A.R. FOTHERGILL	16	15	217	48	3	12	18.08	274	1.263	17	6
K. BARKER	15	14	199	62*	2	12	16.58	431	2.166	11	0
D.R. JOHNSON	15	13	168	35*	2	11	15.27	261	1.554	12	0
G.A. EMMETT	18	14	56	10*	9	5	11.20	195	3.482	3	0
Also Batted											
C.A. LAWRENCE	4	3	24	14*	2	1	24.00	73	3.042	0	0
D. WHITEWOOD	4	4	48	17	1	3	16.00	119	2.479	4	0
D. PAGE	6	5	37	12*	2	3	12.33	151	4.081	3	0
P. MELLOR	11	6	27	8*	3	3	9.00	52	1.926	2	0
L.J. HUTTON	5	4	28	11	0	4	7.00	105	3.750	1	0
S.N. WHITEHEAD	4	4	25	15	0	4	6.25	51	2.040	3	0
P.D. RAINE	20	9	35	10	2	7	5.00	72	2.057	4	0
P.J. BENTLEY	2	2	3	3*	1	1	3.00	8	2.667	0	0
P.M. FRANKLAND	18	8	3	2	2	6	0.50	28	9.333	0	0
K. RODDY	1	1	0	0	0	1	0.00	1	N/A	0	0
P.T. WHITESIDE	1	1	0	0	0	1	0.00	18	N/A	0	0

Played but did not bat

D.J.B. MORGANS 1 K.D. MOTT 1

RUNS SCORED FOR	WICKETS LOST	<u>AVERAGE</u>
3524	164	21.49

							Best	Runs/	Strike	Nun	nber of
	<u>Balls</u>	Overs	Mdns	Runs	Wkts	Average	Bowling	<u>Over</u>	Rate	Wides	No Balls
G.A. EMMETT	980	161.5	27	519	26	19.96	4-13	3.21	37.69	9	0
D.R. JOHNSON	603	96.5	13	397	18	22.06	8-30	4.11	33.50	22	0
D.J. HICKEY	483	78	4	339	13	26.08	3-13	4.35	37.15	15	0
J.D. GLENDENEN	776	128	13	540	19	28.42	6-76	4.22	40.84	8	0
P.D. RAINE	1187	193.5	41	612	13	47.08	3-27	3.16	91.31	0	24
P.M. FRANKLAND	1016	162.3	23	596	12	49.67	2-33	3.67	84.67	23	18
Also Bowled											
C.A. LAWRENCE	302	48.3	11	124	6	20.67	3-36	2.57	50.33	8	3
P. MELLOR	465	77	14	281	10	28.10	3-29	3.65	46.50	3	0
D. WHITEWOOD	73	12.1	0	65	2	32.50	1-7	5.37	36.50	0	0
M. STAINSBY	12	2	0	9	0	N/A	0-9	4.50	N/A	0	0
K.D. MOTT	55	9	2	32	0	N/A	0-32	3.56	N/A	1	0

Catches

A.R. FOTHERGILL	_ 11	K. BARKER	\ 5	L.J. HUTTON	2
J.G. MOODY	10	D. PAGE	ſ	P.J. BENTLEY)
M. STAINSBY	ſ	D.J. HICKEY		P.M. FRANKLAND	
P.D. RAINE	8	M.E. JOBLING	} 4	C.A. LAWRENCE	> 1
J.D. GLENDENEN	7	D.R. JOHNSON	J	S.N. WHITEHEAD	
				P.T. WHITESIDE	J

Stumpings

A.R. FOTHERGILL 4

CUPS

				Highest	Not	Comp.		Balls	Balls/	Numł	per of
	<u>Matches</u>	<u>Innings</u>	Runs	Score	<u>Out</u>	<u>Innings</u>	<u>Average</u>	Faced	Run	<u>4's</u>	<u>6's</u>
M.E. JOBLING	5	5	90	32	1	4	22.50	154	1.711	2	2
J.D. GLENDENEN	5	5	98	68	0	5	19.60	119	1.711	7	2
D.J. HICKEY	5	5	96	43	0	5	19.20	97	1.010	9	1
M. STAINSBY	6	6	69	21	0	6	11.50	134	1.942	5	0
A.R. FOTHERGILL	5	5	51	39	0	5	10.20	93	1.824	2	0
J.G. MOODY	6	6	29	14	2	4	7.25	74	2.552	0	0
Also Batted											
G.A. EMMETT	3	1	16	16	0	1	16.00	28	1.750	1	0
D.J.B. MORGANS	3	2	15	13*	1	1	15.00	29	1.933	0	0
K. BARKER	4	3	15	15	1	2	7.50	14	0.933	1	0
K. RODDY	2	2	14	11	0	2	7.00	26	1.857	1	0
P. MELLOR	4	2	5	3*	1	1	5.00	5	1.000	0	0
S.N. WHITEHEAD	2	1	1	1	0	1	1.00	4	4.000	0	0
D.R. JOHNSON	1	1	0	0	0	1	0.00	1	N/A	0	0
D. WHITEWOOD	2	2	13	9*	2	0	N/A	9	0.692	1	1
P.D. RAINE	5	2	6	5*	2	0	N/A	5	0.833	1	0

Played but did not Bat

P.M. FRANKLAND 5 N.R. FENWICK 1 L.J. HUTTON 1 D. PAGE 1

RUNS SCORED FOR	WICKETS LOST	<u>AVERAGE</u>
580	38	15.26

							Best	Runs/	Strike	Nun	nber of
	<u>Balls</u>	<u>Overs</u>	<u>Mdns</u>	Runs	Wkts	<u>Average</u>	Bowling	<u>Over</u>	Rate	Wides	No Balls
D.J. HICKEY	34	5	0	44	3	14.67	3-20	8.80	11.33	4	0
P.M. FRANKLAND	279	44.3	3	174	8	21.75	3-38	3.93	34.88	12	0
P.D. RAINE	298	48	1	221	9	24.56	4-35	4.60	33.11	9	1
G.A. EMMETT	83	13	1	77	3	25.67	3-38	5.92	27.67	5	0
Also Bowled											
D. WHITEWOOD	19	3	0	9	0	N/A	0-9	3.00	N/A	1	0
J.G. MOODY	12	2	0	19	0	N/A	0-19	9.50	N/A	0	0
D.R. JOHNSON	25	3	0	21	0	N/A	0-21	7.00	N/A	7	0
P. MELLOR	36	6	0	30	0	N/A	0-30	5.00	N/A	0	0

Catches

J.D. GLENDENEN	3	K. BARKER)	
A.R. FOTHERGILL	2	P.M. FRANKLAND		
		M.E. JOBLING	}	1
		J.G. MOODY		
		P.D. RAINE		

<u>100's</u>	115* v BLACKHALL 101* v GUISBOROUGH	(H) (A)	LEAGUE LEAGUE	50 off	90 balls 114	100 off	137 balls 141

50's	J.G. MOODY	91	v THORNABY	(H)	LEAGUE	50 off 84 balls
	J.G. MOODY	85	v HARTLEPOOL	(H)	LEAGUE	82
	D.J. HICKEY	78	v MARSKE	(A)	LEAGUE	57
	J.D. GLENDENEN	69	v MIDDLESBROUGH	(H)	LEAGUE	74
	J.D. GLENDENEN	68	v BLACKHALL	(A)	CUP	46
	J.D. GLENDENEN	66	v NORMANBY HALL	(H)	LEAGUE	88
	K. BARKER	62*	v DARLINGTON RA	(A)	LEAGUE	88
	M.E. JOBLING	62	v REDCAR	(H)	LEAGUE	94
	M. STAINSBY	61	v BISHOP AUCKLAND	(H)	LEAGUE	73
	M. STAINSBY	59	v MARSKE	(H)	LEAGUE	118
	M.E. JOBLING	58	v GUISBOROUGH	(H)	LEAGUE	59
	M. STAINSBY	58	v RICHMONDSHIRE	(H)	LEAGUE	101

FASTEST 50

J.D. GLENDENEN v BLACKHALL (A) CUP off 46 balls

HIGHEST LEAGUE PARTNERSHIPS

1st	WICKET	109	v BLACKHALL	(H) J.D. GLENDENEN	+	M. STAINSBY	186 balls
2nd	WICKET	100	v MIDDLESBROUGH	(H) J.D. GLENDENEN	+	D.J. HICKEY	162 balls
3rd	WICKET	108	v GUISBOROUGH	(A) J.D. GLENDENEN	+	M.E. JOBLING	130 balls
4th	WICKET	132	v THORNABY	(H) J.G. MOODY	+	M.E. JOBLING	170 balls
5th	WICKET	88	v REDCAR	(A) J.G. MOODY	+	M.E. JOBLING	113 balls
6th	WICKET	104	v REDCAR	(H) M.E. JOBLING	+	A.R. FOTHERGILL	139 balls
7th	WICKET	86	v HARTLEPOOL	(H) J.G. MOODY	+	D.R. JOHNSON	80 balls
8th	WICKET	39*	v RICHMONDSHIRE	(A) D.R. JOHNSON	+	G.A. EMMETT	83 balls
9th	WICKET	24	v HARTLEPOOL	(A) J.G. MOODY	+	P.D. RAINE	33 balls
10th	WICKET	5	v RICHMONDSHIRE	(H) G.A. EMMETT	+	P.M. FRANKLAND	14 balls

LEAGUE

	BOWLED	<u>CAUGHT</u>	<u>L.B.W.</u>	<u>STUMPED</u>	<u>RUN OUT</u>
M. STAINSBY	10	9	1	1	1
J.D. GLENDENEN	1	15	1	1	2
M.E. JOBLING	6	11	0	0	1
J.G. MOODY	4	10	2	0	1
D.J. HICKEY	3	9	1	0	0
K. BARKER	2	9	0	1	0
A.R. FOTHERGILL	3	6	0	1	2
D.R. JOHNSON	4	5	1	0	1
P.D. RAINE	4	2	1	0	0
P.M. FRANKLAND	2	1	3	0	0
G.A. EMMETT	2	1	2	0	0
L.J. HUTTON	1	1	0	1	1
S.N. WHITEHEAD	3	1	0	0	0
P. MELLOR	0	3	0	0	0
D. PAGE	0	2	0	0	1
D. WHITEWOOD	0	2	1	0	0
P.J. BENTLEY	1	0	0	0	0
C.A. LAWRENCE	0	0	1	0	0
K. RODDY	0	1	0	0	0
P.T. WHITESIDE	1	0	0	0	0
	47	88	14	5	10

<u>CUP</u>

2	2	1	1	0
1	4	0	0	0
0	5	0	0	0
3	1	0	0	1
3	1	0	0	0
2	2	0	0	0
0	0	0	1	1
1	0	0	1	0
1	0	0	0	0
0	0	0	0	1
0	1	0	0	0
0	0	0	1	0
0	0	0	0	1
13	16	1	4	4
	2 1 0 3 3 2 0 1 1 0 0 0 0	2 2 1 4 0 5 3 1 3 1 2 2 0 0 1 0 1 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0	2 2 1 1 4 0 0 5 0 3 1 0 3 1 0 2 2 0 0 0 0 1 0 0 1 0	2 2 1 1 1 4 0 0 0 5 0 0 3 1 0 0 3 1 0 0 2 2 0 0 0 0 0 1 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 13 16 1 4

8 WICKET	D.R. JOHNSON	8-30	V	HARTLEPOOL	(H)	LEAGUE
<u>6 WICKET</u>	J.D. GLENDENEN	6-76	v	MIDDLESBROUGH	(H)	LEAGUE
4 WICKET	G.A. EMMETT	4-13	v	BLACKHALL	(A)	LEAGUE
	G.A. EMMETT	4-26	V	NORMANBY HALL	(A)	LEAGUE
	P.D. RAINE	4-35	V	DARLINGTON RA	(A)	CUP
3 WICKET	G.A. EMMETT	3-10	v	BISHOP AUCKLAND	(A)	LEAGUE
- -	D.J. HICKEY	3-13	v	BISHOP AUCKLAND	(H)	LEAGUE
	D.J. HICKEY	3-20	v	DARLINGTON RA	(A)	CUP
	P.D. RAINE	3-22	V	DARLINGTON RA	(A)	LEAGUE
	G.A. EMMETT	3-23	v	SALTBURN	(H)	LEAGUE
	P.D. RAINE	3-27	v	BLACKHALL	(A)	LEAGUE
	P. MELLOR	3-29	v	BLACKHALL	(A)	LEAGUE
	C.A. LAWRENCE	3-36	v	MIDDLESBROUGH	(A)	LEAGUE
	P.M. FRANKLAND	3-38	v	BLACKHALL	(A)	CUP
	G.A. EMMETT	3-38	v	BLACKHALL	(A)	CUP
	P.M. FRANKLAND	3-44	v	DARLINGTON RA	(A)	CUP
	D.J. HICKEY	3-44	V	RICHMONDSHIRE	(A)	LEAGUE
	P. MELLOR	3-48	v	BISHOP AUCKLAND	(A)	LEAGUE
	D.R. JOHNSON	3-53	v	GUISBOROUGH	(H)	LEAGUE

LEAGUE

	BOWLED	<u>CAUGHT</u>	<u>L.B.W.</u>	<u>STUMPED</u>
G.A. EMMETT	4	17	2	3
J.D. GLENDENEN	3	15	1	0
D.R. JOHNSON	4	10	4	0
D.J. HICKEY	2	8	3	0
P.D. RAINE	2	11	0	0
P.M. FRANKLAND	5	6	1	0
P. MELLOR	1	6	3	0
C.A. LAWRENCE	3	2	1	0
D. WHITEWOOD	1	0	0	1
	25	75	15	4

CUPS

P.D. RAINE	6	2	1	0
P.M. FRANKLAND	3	5	0	0
G.A. EMMETT	0	2	1	0
D.J. HICKEY	1	1	1	0
	10	10	3	0

RESULTS

		<u>LEAGUE</u>			<u>CUP</u>		
		WON	<u>LOST</u>	<u>DRAWN</u>	WON	<u>LOST</u>	
BATTING 1st	HOME	1	5	2	0	0	
	AWAY	1	4	1	1	3	
	NEUTRAL	-	-	-	0	0	
BATTING 2nd	HOME	1	1	1	0	0	
	AWAY	2	1	2	1	0	
	NEUTRAL	-	-	-	0	0	

Finishing 9th in the league was a poor performance, especially as we lost half the games we played. With 4 games not started, 6 affected by the weather and a tie, we gained 243 points whilst conceding 343 points.

We had 3 players this year making their 1st team debuts: G.A.EMMETT, P.M.FRANKLAND and D.PAGE.

In the league programme there were 5 century partnerships: 1 each for the 1^{st} , 2^{nd} , 3^{rd} , 4^{th} and 6^{th} wicket. There were 14 other partnerships over 50: 4 for the 1^{st} wicket, 3 for the 7^{th} wicket, 2 each for the 4^{th} and 6^{th} wicket and 1 each for the 2^{nd} , 3^{rd} and 5^{th} wicket.

We also suffered our worst defeat for 42 years when we were bowled out for 25 against Saltburn (not our lowest ever league score though. That was against Middlesbrough in 1958 when we were all out for 17).

Overall the batting performances were much the same as last year with one or two people standing out above the rest. Keith Barker scoring his maiden half century against Darlington RA and Gary Moody with his best batting performance for 5 years, scoring 419 runs which included 91 against Thornaby and 85 against Hartlepool.

The league wickets this year seemed to be very sparse with only one person taking more than 20. Duncan Johnson got a new personal best this season with figures of 8-30.

The rule of narrow wides voted in this season did not help with a total of 89 being bowled costing a total of 129 runs.

We only bowled 3 sides out this season winning 2 of the games and tying the other. We did not manage the double over anyone this season, however, Redcar and Saltburn both managed it over us.

In the cup matches this season we made an early exit from the Saunders and MDK, having played all of our games away will not of helped. However, we reached the semi of the Kerridge away to Guisborough when floodlights would have been a great help!

Thanks goes to Andy Fothergill for 22 years of playing cricket for Darlington, as he and John Glendenen have now both retired from the game, and to Gary Moody who is standing down as captain after 5 seasons.